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The Budgeted Cost of Work Schedule
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(Cost Variance) "CV " w5 o plio asls -
CV=BCWP-ACWP

(Cost Variance %) “CVP “ cu asdg 5l Glyool adls -
CVvP= CV/ BCWP

(Schedule Variance) "SV* a5l @ plio jasls -¥
SV=BCWP-BCWS

(Schedule Variance %) "SVP* cuuils; jl Glol asls - ¥
SVP= SV / BCWS
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(Cost Performance Index) “CPl “ o555, (ol 4o 3,Sos asls - 0
CPI= BCWP / ACWP

(Schedule Performance Index) “SPI“ s34, (caislej 5, Shos aslis -5
SPI= BCWP / BCWS

(Cost Schedule Index) "CSI“ sl cons jasls -V

CSI=CPI x SPI




B S (33,1 (W9, 48 (S i B ad L duwlw

( Estimate at Completion ) "EAC " ous ples cuasd 55 yadli —
EAC= ACWP + ( BAC - BCWP ) / CPI

( Variance at Completion ) "VAC" cus plos cuasd S| sl — ¥
VAC= BAC - EAC




o 55 Jlio &l 93 lgad s dmlono

"CV " aiie @plie (o3l dulse )
CV=BCWP-ACWP = 20,000 - 22,000 = -2,000

“CVP “ oas as0gs 5 Glysul sl auwloee =Y
CVP= CV/ BCWP = -2,000 / 20,000 = -10%

SV il 5l & plie Jasli auloes —¥
SV=BCWP-BCWS = 20,000 - 25,000 = -5,000

“SVP“ cuiile; 5l Glyssl jaslis auolre — ¥
SVP= SV / BCWS = -5,000 / 25,000 = -20%




“CPI “ 659, (ol ajp 5 ,Shos ja3ls duls — 0
CPl= BCWP / ACWP = 20,000 / 22,000 = 0.91

“SPI 656, sisloj 3 Slas jaslis dulos —
SPI= BCWP / BCWS = 20,000 / 25,000 = 0.80

“CSI* ol o sl ol =Y
CSlI = CPI x SPI = 0.91 x 0.80 = 0.73
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“‘EAC " 015 plod Cuogd (po50 adls dwle —
EAC = ACWP + ( BAC - BCWP ) / CPI
EAC = 22,000 + (100,000 - 20,000) / 0.91 =109,9125%

“VAC " ouis plod Cuogd N3] a3 ls dpuloee = ¥
VAC = BAC - EAC
VAC = 100,000 - 109,912 =9,912 %
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= ‘c’:f;l‘g‘lle | BAC ACWP BCWP BCWS 5593
6% 680 119 104 123 Yo
16% 680 130 236 246 Yo s
20% 680 136 246 280 Yo s
38% 680 140 330 340 030
38% 680 140 330 380 20552
46% 680 165 350 395 Vo 50
58% 680 250 390 450 Vo2
60% 680 340 395 456 ho s52
70% 680 510 450 601 35,52
75% 680 560 455 680 Y eog0
83% 680 680 460 680 VYo g0
85% 680 691 560 680 Yo
92% 680 711 655 680 VYo
95% 680 735 670 680 ) to0

100% 680 740 680 680 100,153
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wd 0 399 & p lgas b dwwlzo
"CV " auie @ple (@3l dulse )
CV=BCWP-ACWP = 395- 340= 55

“CVP ¢ us asdg 5l Glysail sl dpuloee Y
CVP= CV/ BCWP =55 /395 =13.92%

SV caisle; 5l @ plio (adls duwloee =Y
SV=BCWP-BCWS = 395 - 456 = - 61

“SVP* caisle; 5l Glysail aslis apole — ¥
SVP= 5V / BCWS = -61/ 456 = -13.38%
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“CPI “ 650, (o ajp 5, Slos j23ls duls — 0
CPl= BCWP / ACWP = 395 / 340 = 1.16

“SPI 654, siiloj 3, Slas sl dplos —
SPI= BCWP / BCWS = 395/ 456 = 0.87

“CSI* s o sl ol =Y
CSI=CPIxSPI=1.16 x0.87 = 1.01
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‘EAC" o0 alos Caasd (et adli dvwlbx
EAC = ACWP + ( BAC - BCWP ) / CPI
EAC =340 + (680-395)/ 1.16 = 586

“VAC" o0 plos crasd OS] 23l5 dowlre

VAC = BAC - EAC
VAC = 680 - 586 = 94




330399 1 3 Lo s e
"CV " aiie @plie (o3l dulse )
CV=BCWP-ACWP = 460 - 680 = - 220

“CVP “ as a9 5 Blyssl sl auwloee =Y
CVP= CV/ BCWP = -220 /460 = - 47.83%

SV il 5l & plie Jasli auloes —¥
SV=BCWP-BCWS = 460 - 680 = - 220

“SVP* cuiile; 5l Glyssl aslis auolxe — ¥
SVP= SV / BCWS = - 220/ 680 = - 32.35%




“CPI “ 659, (ol ajp 5 ,Shos ja3ls duls — 0
CPl= BCWP / ACWP = 460 / 680 = 0.68

“SPI 656, sisloj 3 Slas jaslis dulos —
SPI= BCWP / BCWS = 460 / 680 = 0.68

“CSI* ol o sl ol =Y
CSl = CPI x SPI = 0.68 x 0.68 = 0.46
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‘EAC" o0 alos Caasd (et adli dvwlbx
EAC = ACWP + ( BAC - BCWP ) / CPI
EAC = 680 + (680 -460)/ 0.68 = 1003

“VAC" o0 plos crasd OS] 23l5 dowlre

VAC = BAC - EAC
VAC = 680 - 1003 = -323
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